TOm W A

FEREREZ \ 1000m% A 2 | 500m & A A -
sl V7|0 2R | T T AR 15

11:00 2[R D\EEB 5 4 116 41
Brox| 3 |gE|[dpgey 3 3 |46 | 28
FTIEAM| 4 | R [nEA 1 3 127 62
eV 5 | IR FEIRA 2 3 0 34 81
2 6 |mgE[)\EHC 4 4 01 01
11:10 2 | IR |FEIRB 3 3 i 54 (72
Br2x| 3 JERDIUHEA 2 3 0 50 i 94
TiEB 4 SR SIS 1 3 ¢ 41 : 16
RSV 5 | IR nfEB 5 4 110 i 18
2 6 | IR |EIC 4 3 1 59 i 45




s Ek B TE ORK R

V=2 | FEMEREZ \ 1000m# A A | 500m A N
gu mpogmy| V|0 A | TR T AT 6%
12:30 2 | IR R %) DN S
o, 2x) 3 IR RN (IR 1l 4 31:79
6 |IBEDN% Lkirx7n 1] 4 1 18: 83
1 [ e CEEEB) 1 4 0287
12:40 2 | E | HE J\EEA) DN S
BT1X 3 | IR |~ b3y (EIR) 2| 4 03 20
R 4 [ R E CERMEA) 4] 4 ¢ 18 i 99
b | IR bR I¥B) 3] 4 106 21
6 (B |EMR O\HEB) DN S
12:50
TF4x+| 3 | R R 3] 3 15119
N7 4 | IR IR A 1] 3 :41: 03
b | U7 B FEAL 3 49 {43
13:00 2 | IR IEREB 4] 3 42 85
Brax+ 3 | IR INEA 3] 3 128 ¢80
R 4 IR ERMEA 1] 3 :24:093
b | IR PJ\EHE 2l 3 128 15
6 | I Nk B 5] 3 1 44 1 05
1 R [ B 6] 3 52 1 52
13:10 2 e | J\EHA 5] 3 150 37
BF2X 3 | MF R EARA 2] 3 130 36
VN7 4 | IR DI A 1] 3 i24: 24
5 | E. [EIRIE 3] 3§35 58
6 | IR R 4] 3 143 1 28




THAEE RERESFFRIFAKRIR—IERK

F® PEHEFF

BRBHRAE R—I5RE) BREEFEHEHER
(202259 H17THZERE FJIDBTEMS)

5+ 7 )L— 24 Ls A IN—
UG AN BB EiRENZESKB|402"87 BHEA
2431 HEARE#%]4'03"20 RANAY S
3L MEER] 406721 A
FTIVAADIL | BB IR ERA[324724 INEEBR A RAETE A BA
213 BAEHA|3'30736 miEEHEZ)IE
31z ERMZEE1[335"58 FHR—BHFRAR
sEGoAELTL B ERMEEIKA|324°93| BIpmH ks EAG S BEHRE ISE RS
24 J\BEESH(328"15| s B AR A BHEES BARA BT
3L NN = AR A [ 328780 Fr AR A, [ A B 3T, 3 24, LU F 5 ., 12 FH AL 33)
T
UG IWAHIL BB EIRMNBEER[431"79 FEE
24
31z
FITIWRHIL B I 4% [4'18783 BEERFHAE
24
31z
gEorEL T B MR EHA|341703| K2 B RGBS /R SHA XM
24 EAEHR|349"43| T ERE & EABS T ERES SihEx
313 M EB[35119| s ME L RV FY, TEMIE £ BERE IHRES
BF &R ERMESR
24 mzEER
31z BB
TF &R mzEER
24 BERER
31z EEMESR

ULt




